DU MPhil Phd in Political Science

Topic:- DU_J18_MPHIL_PS

1) Which of the following is true for Locke's conception of the Social Contract?

dies & ArTfores wmgita & Righd & ddu ¥ frefafea 7 3w m a2

[Question ID = 376]

04 Sfida veTdl, g, gird, wierfde 3R aifvie &

1. Foor, Masty, Brutish, and Short [Option ID = 1501]

amTfsie qrelta ¥ it Feuril v g & 33 & [gid & ufd g 8

2. The participants in the Social Contract are disinterestad in each other’s conception of the good

1502]
3. The political sovereign is not a party to the contract. Ei AAlcl BT HT :ﬁﬁ [Option 1D = 1504]
4. It creates first the Civil Society and then the Political Snn:iet',r.qg el AT HHTS :E‘[* fepe ot wmrr st FAfffa e @ [Option ID = 1503]

[Option 1D =

Correct Answer :-
« It creates first the Civil Society and then the Political Society, 38 U6et AN HHTS B, by IA-Nfde Jurst 1 Affd ST E (o040 10 = 1503]

2) Which one of the following did not find its origin from Prakrit language?

AEfeiEd ¥ 4 sl Iga Yepd WTHT & Fel g1 82

[Question ID = 381]

1. sanskrit / | i [Option ID = 1523]

2. Pali/ el [Option ID = 1521]

3. Apabhramsha / Tl [Option ID = 1522]

4. Ardha- Magadhi STETTHT (6000 10 = 15241
Correct Answer ;-

= Sanskrit [ pd [Option ID = 1523]

o Pali/ Teft [option 1D = 1521]

el

= Apabhramsha / [Option ID = 1522]

« Ardha- Magadhi STETTHT [(00k0n 10 = 1524]

3) Which one of the following is NOT a root of New Public Service Theory?

& { B Fa-oie fgla & g 0 781 2
[Question ID = 392]

1. Theories of Democratic Citizenship / citebdifaes e & ﬁ‘m [Option ID = 1565]
fmm l TS < 3UTTH [Option ID = 1567]

3. Organizational Humanism and Discourse Theory ,.f! ST HITddTE Sih i ITe fﬁZTH [Option 1D = 1568]
4. Public Choice Theory ,r’t_'mF a7 figid [Option ID = 1566]

2. Models of Community and Civil Society

Correct Answer ;-
« Public Choice Theory / 1P 99 RIGId (60600 10 = 1566]

4) Who has emphasized on 'Paradox of Representation’ in India?

yfafifaa &1 e G ufqurfea far
[Question ID = 405]

1. Suhas Palshikar / 18 R [Option ID = 1620]
YdTg v Wedl

2. Pratap Bhanu Mehta / [Option ID = 1617]
3. Yogendra Yadav / GNV% A1Gd o000 15 = 1619]

4. M pylee ; DIl Ul 1000 10 = 1618]

Correct Answer ;-

= Yogendra Yadav / % ared [Option ID = 1619)
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5) Who has traced the evolution of BJP in terms of oscillation between moderation and militancy?

WA ST uref & fasrraaor megant 317 3uar & e & def i faa fafgq feanr

[Question ID = 406]

| i St
berdiT e

2. Katherine Adeney [/ [Option ID = 1624]
3. Rajni Kothari / St BTl [Option ID = 1621]
Al ared [Option ID = 1623)

1. Christophe Jaffrelot [Option ID = 1622]

4. Yogendra Yadav /

Correct Answer ;-

= Christophe Jaffrelot [ fobeeTt Sitbet

6) Which among the following options proves to be the primary point of difference between analytical political theory and critical political theory?

e farpet 1 3 o faeeisToTss Tt-ifdes Figia dem AeT e Aot fHgia &

dter fanye % wrrfives fadigai ) gerfdt 22
[Question ID = 379]
Judad o & H1é Tl _
1. None of these [ [Option ID = 1516]
SR

2. Epistemology / [Option ID = 1514]

3. Ontology | [Option ID = 1515]
4. Methodology / 2 q&'ﬁl’ [Option ID = 1513]

Correct Answer :-
. Methodology / P 98I [0ption 1D = 1513]

7) Import Substitution Industrialization ISImodel was first applied in:-

raTe e Atafievor ufar gad vget Sl amn

[Question ID = 390]

1. Africa ;m [Option ID = 1559]
2. Iceland / TEW  [vion 1 = 1557]

3. Latin America [ [Option ID = 1560]
4, East Asia / tEﬁ - [Option ID = 1558]
Correct Answer :-

[Option 1D = 1622]

« Latin America / [Option ID = 1560]

8) Alexander Wendt propounded:-

Veyert-ed J-ge 3 wfamfea fasan

[Question ID = 409]

Hadedta dedy &1 i fagha

[Option 1D = 1636]
2. The Social Theory of International Relations a’m Hdy %1 qrtetd ﬁaﬂ [Option ID = 1634]

3. The Political Theory of International Relations / 4 ﬁl EELERRIECITE ﬁi&'l?[ [Option ID = 1633]
/ﬂaﬂhﬂummmfﬁ fagid

1. The Philosophical Theory of International Relations /

4. The Economic Theory of International Relations

Correct Answer :-

+ The Social Theory of International Relations /a1Sad HaH &1 AMIFE FEIT [0p1i0n 1D = 1634]

[Option ID = 1635]

9) "A supposition or proposed explanation made on the basis of limited evidence as a starting point for further investigation.” Which one of the following best captures the

above?

Frafafad & & fdsgar 3¢ & “ 3l 339 & ueaH g & wu § difdd areg & 3R

U3 b1 1§ M 3reqa AT a2

[Question ID = 369]
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1. Central question / m A
ufdm

2. Regression [ [Option ID = 1476]
E I ol [Option ID = 1475]

4. Hypothesis [ b [Option ID = 1474]

[Option ID = 1473]

3. Measure of central tendency /

Correct Answer :-

= Hypothesis / HetHl [Option ID = 1474]

10) According to Robert Cox, world order is shaped by:-

e Blaw & ITUN dog-araen &1 3SR Fafafaa 1 4 feg 4 9fa 22

[Question ID = 408]

1. Ideas, Diplomacy and Institutions & 3R

2. Production, Power and Ideas !EE et , Rl R fa=m [Option ID = 1630]

3. Production and Ideas,i’m HR faem [Option ID = 1629]
Heen, 3cqred 3R Aan

4, Institutions, Production and Ideas / [Option ID = 1632]

[Option ID = 1631]

Correct Answer :-
« Production, Power and Ideas f3i e, ?ﬁ ﬁhl R [Option ID = 1630]

11) What Panchayts are for India, Kibbutz are for?

YR & T S U=ad &, fhqest & foft o 82

[Question ID = 385]

1. Indonesia / 'é'?;ﬂ':lﬁmT [Option 1D = 1540]

2. Brazil | iile [Option ID = 1537]

3. 1taly / S [option Ip = 1538]
4, Israel / Tl [Option 1D = 1539]

Correct Answer ;-
« Israel / STl [Option ID = 1539]

12) Dependency school emerged as a reaction to:-

yTfsrdan 3, fhues widfdar & Bu i 3mn

[Question ID = 389]

1. Historical Materialism / eI Wifddare [Option ID = 1553]
3. Cwil Society / TR WIS (60400 10 = 1556)

3. Modernization Perspective / ‘EI E [Option ID = 1555]

4. Dialectical Materialism ,Fg e [Option ID = 1554]

Correct Answer ;-

= Modernization Perspective [ H 4 [Option ID = 1555]

13) Basing conclusions without any bias and value judgment is

faT fabaft weraTa q Jeu-qiaar W Al ey &) Fad &

[Question ID = 372]

1. Objectivity / [Option ID = 1488]
2. Multi-centric ,HHE- : [Option 1D = 1487]

3. Specificity / afree [Option ID = 1486]

4. Relativity / TTIEITT [option 1D = 1485]

Correct Answer :-

= Objectivity / [Option 1D = 1488]
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14) is the final step of Research process.

oty ufdban &1 3ifdy =or &)
[Question ID = 366]

1. Collection of Data /H1TP8! @1 HBT  [0ption Ip = 1462)

T de
2. Editing and Coding / [Option ID = 1464)]

3. Verification/ Rejection of hypothesis /4Pl &l T/ W BT0] [Option ID = 1463]
4, Formulation of a problem | HHHT 1 I o [Option 1D = 1461]

Correct Answer ;-

« Verification/ Rejection of hypothesis /APl BT HelTg/ 310 [Option ID = 1463]

15) Taylorism is a theory of management that does NOT:-

AT T B U fAmm g, A PR
[Question ID = 395]

HIIYATE I faeemor IR VAE 100010 = 15777
AU YR @) faeid &3 (uane)

1. Analyse and synthesize workflows |
2. Develop informal communication grapevine /

3. Atternpt to apply science to the engineering of processes and to management |

4, Improve economic efficiency specially labour productivity /
Correct Answer :-

yHTgETiiE e ® faeida S (uarE)

+ Develop informal communication grapevine /

16) Bibliography means:-

el e &1 37 &
[Question ID = 368]
1. Biography ;Gﬂﬂ:ﬁ [Option ID = 1471]
2; Quulzﬁunsjm [Option ID = 1470)
3. List of Books referred /
wefia qeae! ! Wt [Option 1D = 1472]
4, Foot Note Imﬁmﬁ [Option ID = 1469]

Correct Answer :-

. List of Books referred [
Hefifa gwre! @1 gl [Option 1D = 1472]

17) Who distinguished between Political Asymmetry and Constitutional Asymmetry?

Tt I 3R dduifie 3T F &9 B i Hd1 87

[Question ID = 404]

o$4 fefda
1. Louise Tillin / [Option ID = 1615]
2. Charles Taltron / ATed] 2Tz [Option ID = 1614]
3. Ronald Watts / Ti1el dicH [Option ID = 1613]

4, Michael Walzer / [Option ID = 1616]

Correct Answer :-

[Option ID = 1578]

wee 3N ufsbanil & sifraiEeor w1 f@E S @n) 9 &1
Yifefes BIABATdT B! YUTEAT (38 B & Ho1gd IcdTehdT)

[Option ID = 1579]

[Option ID = 1580]

[Option ID = 1578)

« Ronald Watts / 1T AIGH  ro0ion 1o = 1613)

18) Who argued that comparative politics was parochial since it focused solely on the experiences of Western Europe; Descriptive rather than Analytical, Formalistic and

Legalistic and that it highlighted individual case studies rather than comparisons of two and more societies?

e o foan s germnars Terifa Sl 4, wife ae oft ave @ ufinh @i & el w #fie F; freraomers & aemg avfrers; sy ot duard B, SR uw 31 ofit aifires Wl

e & To , AT TS F A U S A 22
) - dde i

) I=Ed FHR

) SiHeE T

) ¥ AffEw
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[Question ID = 388]

1. Meera Chandhukefm : [

2. Donald Trump / e

Option ID = 1545]

[Option ID = 1551]

3. Ujjwal K Singh /3 o19¢1 %o g

[Cption ID = 1550]
g

4. Roy Macridis / [Option ID = 1552]

Correct Answer :-

« Roy Macridis / [Opticn ID = 1552]

19) Who among the following is associated with the concept of 'Complex Interdependence’?

FAafafEa ¥ & S5 91 S vy ffar & 3R 3 S[g gan é:

[Question ID = 410]

1. Martin White , T BTEE 1 ronion 1D = 1639]

2. Bary Buzan .r’aﬂ $ e [Option ID = 1638]

Higme 3"

4. Robert Keohane jm FaH [Option ID = 1637]

3. Muhammad Ayoob [/ [Option ID = 1640]
Correct Answer ;-

= Robert Keohane | e e [Option 1D = 1637]

20) Who among the following is primarily associated with the acceptance theory of Authority?

Il &1 wiepfd gl & gre fafefad 0 4 w1 ugE sy & ddfed 82
[Question ID = 397]

LR G
1. Henri Fayol / [Option ID = 1586]

2. D.Me Gregor jﬁ“ EEEIED N [Option 1D = 1587]
3. Chester Bernard / el q g

THelle el
4, M P Follet / [Option ID = 1588]

[Option ID = 1585]

Correct Answer :-

« Chester Bernard / SELE [Option ID = 1585)

21) Who among the following political theorists can be labelled as a "Resource Egalitarian’?

o o A few Terifas fAgiasmd & TumE auaand’ S21 o1 a1 22

[Question ID = 403]

1. P.J. Proudhon / oSt urelY [Option 1D = 1609]

2. John Rawls / vl Jied] [Option ID = 1610]
HIgbed d-gci

4. Michael Walzer [ : 2

3. Michael Sandel / [Option ID = 1611]

[Option ID = 1612]
Correct Answer :-
- John Rawls / T I (00600 1D = 1610

22) Who among the following advocated "Catch All Party' model?

g A fu wdurel g« ufanre & asrerd 17

[Question ID = 400]

1. Lipset and Rokkan / ‘I e 3N [Option ID = 1599]
2. Moisei Ostrogorski [ 3 3t !ﬁ I [Option ID = 1597]

3. Otto Kirchheimer IH@ PATgH [Option ID = 1598]
#ﬁﬂ?ﬁm s

4, Giovanni Sartori [Option ID = 1600]
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Correct Answer :-

= Otto Kirchheimer / ﬁ@ PATTH [Option ID = 1598]

23) Who is the author of "The Structure of Scientific Revolutions?

G IR U1 gigAfelted RaTegeyr & o s o 82

[Question ID = 370]

1. Thomas Kuhn ®1 [Option ID = 1479]

2. Rudolf Carnap / R [Option ID = 1480]

3. Karl Popper / Plef TT0 [Option ID = 1477]

UTel T2
4, Paul Feyerabend / [Option ID = 1478]
Correct Answer :-

* Thomas Kuhn / ®1 [Opticn ID = 1479]

24) Wheo is the exponent of the ‘Fourth Wave of Democratization'?

elfbdifestu & dieft oe & ufdurgs S &2

[Question ID = 387]

1. Samuel P. Huntington / S190A W BITET 0000 1p = 1545
2. Lloyd Rudolph and Susanne Rudolph / 18 et dell I F5

3. Partha Chatterjee ,."q“n: w [Option ID = 1547]
Judfert O @ B

4, None of these |

[Option ID = 1546]

[Option ID = 1548]

Correct Answer :-
= MNone of these ,F3 I ! I ﬁ .‘Q Eﬂﬁ :I';.ff [Option ID = 1548]
25) What does the comparative methed in research entail?

oiter ¥ T ugfa &1 @ afimg &2

[Question ID = 374]

1. Deciding which participants get the highest scores, [ ﬂ'§| Rd HF &Eﬁ‘-’-lm HeH | FEIAH 3k UTLd T g
2. Contrasting the findings of two different studies, / &l TH~1 3EZaHY < Fispsf ¥ @f®  [option 10 = 1493)

[Option ID = 1495]

& m e fawal % ey ¥ wey gararear
3. Making comparisons between the findings from two or more different cases in a study. / [Option ID = 1496]
4, Comparing the outcomes of several different studies, / A= 3 H & T E?[ E Bl [Option ID = 1494]
Correct Answer :-
&1 a1 s fawdl & Fepd & mea geararehan
+ Making comparisons between the findings from two or more different cases in a study. [ [Option ID = 1496]

26) Who said that "Man is not for religion, religion is for man'?

“3rert v & foe 78, v et & feie 27, 48 foby a1 &2

[Question ID = 382]

1. Aurobindo / fa= [Option ID = 1526]

Bl

2. Phule ( [Option ID = 1528]
BICES T
4, Vivekanand [/ m [Option 1D = 1525]

3. Ambedkar / [Option ID = 1527]

« Ambedkar / [Option ID = 1527
27) Reasoning from general to particular is called:-

=y 3 fafere & 37 aifdsar e FeaArd 82

[Question ID = 365]
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1. Induction / THAHBAT  roption ID = 1457]

2. Experience | ﬂ [Option ID = 1460]
3. Deduction ,n'j THATHbAT [Option ID = 1458]

HAdedldpd [Option ID = 1459]

4, Observation /

Correct Answer :-

BENRELEininm |
« Deduction / [Option ID = 1458]

28) Emest Haas is associated with:-

W2 g0 &1 dau feg 4 &
[Question ID = 411]

1. Economic theory of imperialism [ HTHTdTG T mféfa ﬁm [Qption ID = 1643]
Wbt 5 [Option ID = 1641]
3. The cultural theory of imperialism [ [

4. Neofunctionalism / 79 TPTHII&  (o06on 1D = 1642]

2. Functionalism /

Option ID = 1644]

Correct Answer :-
« Neofunctionalism /73 PTG [0nrion 1D = 1642]

29) In the eyes of a radical feminist, gender equality can be achieved through:-

IMA-URadard! AHERE & 39OR Si= 0T $4 U fHar &1 Iedr 82

[Question ID = 414]

1. Class struggle / L [Option ID = 1656]

2. Gradual reform [ i qHR [Option ID = 1653]

3. Challenging patriarchy [ I & S & [Option ID = 1655]

e A wftre ufgensi &1 faunfde § ufafifia

4, Getting more women elected in legislatures / [Option ID = 1654]

Correct Answer :-

Ogaan &1 H
« Challenging patriarchy / o [Option ID = 1655]

30) Consider the following statements:-
For Gramsci, Civil Society is the arena of

1. Consent over Coercion
2. Hegemony over Domination
3. Leadership over Power
4. Reconciliation over Struggle

Which of the statements given above is/are correct?

fafafes o w fEr ¢
UrE! B oY, ATITYS WHE B AT
1. AA¥E ¥ FU el

2. WY & HU Uaadr

b
FwRTmsE s Iy |, 96 &2

[Question ID = 413]
e 1, 1) LR [Option ID = 1643]
2. 1,2 and 3 only ;m 1), 11) o iii)

3. 4 only / Hefet iv) [Option ID = 1652]
ool 1) ol ii) [Option ID

1.1,23and4/
[Option ID = 1650]

4.1 and 2 only / = 1651]

Correct Answer :-
i), ii), ii) e iv)

« 1,23 and 4/

31) Which of the following is NOT correctly matched?

e faspedt 1 3 T faeesaraTsd Tor-ifde gl dem ATaeHaTe Toifdes fHga &
i e % wrerfives g3 #) qafdt &2

[Option ID = 1649]
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[Question ID = 53421]

dloNNo a8 = § I & Y@
1. R. Ambedkar: Who were the Shudras? . e " [Option ID = 93669]
2. Veer Savarkar: Hindutva 9% JTER®EL = ST (option 10 = 93671]

STl Tee Mo w
3. Jawaharlal Nehru: Geeta Rahashya [Option ID = 93672]

4. Gandhi: Hindi Sawarj ITeft - o yart [Option 1D = 93670]

Correct Answer :-
SAATEATe AgS = fdl T=

« Jawaharlal Mehru: Geeta Rahashya [Option ID = 93672]

32) Ssociety ch the following and select the correct pairs -

Scholars - Ideas/concepts enunciated -
1) Paul Brass i. Party - Society
2} Kanchan Chandra 1. Political Society
3) Dwaipayan Bhattacharya iii.  Institutionalized Riot System
4) Partha Chatterjee iv. Patronage Democracy

Frafafaa ta & A ad ad o
fagH yfdunfea faemyaraemon
1. UTel 91 i) UTef-TTS
2. b9 g2 ii) AT TuTst
3. eaTsuaH e iii) TR ST UOTTet
4. ref et iv) ZRemT SN

[Question ID = 399]

landii;2andiv:3andi;4andu / 130 iii, 2 3R iv, 3 3R, 4 3 i
1. [Option 1D = 1595]
landii;2andi;3 andni;4 andwv / 13Rii, 2 3R, 3 ANiii, 4 9N v

2 [Option ID = 1596]

landiii;2andi;3andiv:4andii /13 iii: 2 3 i: 3 3 iv; 4 3N i
3. [Option 1D = 1593]

landi;2andiv ;3andin ;4andii /1 3N # 2 3 v, 3 3N iii, 4 3l i
4. [Option ID = 1594]

Correct Answer :-
landiii;2andiv;3andi;4andii / 13000, 23 iv, 33N T, 43 i

. [Option ID = 1595]
33) _ T
Match List I wath Last IT
List I ListII
a) Michael Foucault 1. Knowledge 13 power
b) Robert Cox 2. Struggle for power
c) Hans Morgenthan 3. Where are the women ?
d) Cynthia Enloe 4 Theory 15 always for someone and for
SOMme purpose
ft 1 B et 2 A firend
I It 2
a) g bl 1. ATelst 391 UTH
b) Fa¢ Fla 2. el B 9Tl
c) &% wiife 3. QW IR & fa
d) fafern waa 4. 2dt g5 3iTerdst B uead U8 B a0 uds

[Question ID = 412]

[Option ID = 1646]
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3
2 [Option 1D = 1647]

3. [Option ID = 1648]

L
o
Lad
b

4. [Option ID = 1645]

Correct Answer :-
A B C D

1 4 2 3
= [Option ID = 1647]

34
) Match the following and select the correct pairs :

Scholars : Books :
1) Myron Weiner i India against Itself - Assam and the Politics of Nationality
2) Kanchan Chandra i Sons of the Soil : Migration and Ethnic Conflict in India
3) Christophe Jaffrelot 11, Why Ethnic Parties Succeed : Patronage and Ethnic Head Counts 1n India
4) Samjib Baruah . The Hindu Nationalist Movement in India

fAfafEd 3 Wt &Y 3 g&t Sidh o

g EaE:
1) W 9 ) §f3un 3 gediets: 3 Qug 2 uifeifay 3ife erifad
2) e e i) 0 376 & Wiery: mgher tvg verfies FAfterae g9 fea
3) foees Shibelfe iii) ar$ verfie urdler waits: 9ot Yvs vafie € Sy o $fdan
4) Wfta aw3n iv) & f8g Ferfate yai= g4 g8t

[Question ID = 402]

landii;2andiii;3andiv:4andi / 1 30 i, 2 3 iii, 3 AR iv, 4 3N
1. [Option ID = 1605]
, landiv;2andiii;3andi;dandii /13 iv, 2 3 iii, 3 3R, 4 30
5 landi;2andii:3andiv; 4andiii /1307, 2 3 ii, 3 3N iv, 4 3R iii
, landii;2andiii; 3andi;4andiv/1 AR ii, 2 3Wiii, 3 3T, 4 3R iv

[Option 1D = 1608]
[Option ID = 16086]
[Option ID = 1607]

Correct Answer ;-
landii:2andii;3andiv:4andi / 130, 2 3R i, 33N iv, 4 3R i

. [Option 1D = 1605]
35) Match List I with List I1. Select the correct answer from the codes given below.
List-I List-IT
a. Herbert Stmon (1) Dynamic Administration
b. MP. Follet {11) Human Problems of Industrial Civilization
c. Elton Mayo (111) Fundamental Research in Administration
d. R Likert (1v) New patterns of Management

gt 1 3R G 2 B et R R e e & 6 3w

Il Tt 2
a) g grgHd i) fdefter wemaA
b) THetle Hiae ii) 3ivenfives amfiesan & wrdT gned
¢) Te WY iii) wemar W wifers
d) Ao fd®e iv) WetH & A7 dlld

[Question ID = 393]
(a) (b) (c) (d)

1, () @ () () [Option ID = 1571]
(a) (b) € @

2 @ @ W @ [Option ID = 1572]
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(a) (®) (c) (d)

3 W ) ® @) gni0n D = 1570]

(a) (b) (c) (d)

L ® @ @™ @

Correct Answer :-
(a) (b) (<) (d)

. m) (1) () )

36)

Match the following and select the correct pairs :

Scholars

1} Samuel Huntington
2) Barrington Moore
3) Juan Linz and Alfred Stepan

4) Llovd Rudolph and Susanne Rudolph

Frfafaa 3§ o &Y 3k adt <dh 9
fagr:
: & gfemeq
2. AffreT Ty
3. o foi=st 3k Yels Wua
4 e et 3N YA B5cth

[Question ID = 401]

[Option ID = 1569]

[Option ID = 1571]

Books

i Problems of Democratic Transition and Consolidation - Southern Europe. South Amernica and Post-Communist Europe

1. The Modemity of Tradition : Political Development in India

1. Political Order in Changing Societies

wv.  Social Ongins of Dictatorship and Democracy - Lord and Peasant in the Making of

the Modern World

Rb:

i) Wiaere 3776 SHITEE gritert Og Siitferdert: Wt g, arae nifis ¢g uiee

P

i) & ufefé e éem: uifadtea Saeul= g9 fEm

i) ifetfeaset MY g A VR

iv) Here TS~ 3o fEaeesfery e Snnsat: wfé T8 otz 37 & Afd T & wigd

dos

landiii:2andi:3andii: 4andiv / 130 iii; 2 30 i; 3 3 ii; 4 3R v

1

5 landiv;2andin;3andii;4andi/ 1 3R iv; 2 3 iii; 3 AR ii; 4 AW
; landiii;2andi;3andv:4andi / 130 0ii; 2 3R 0; 3 3N iv; 4 3 i
% landui: 2andiv:3andi: dandu / 1 3l ii; 2 3l iv; 3 AN 0; 4 AW i

Correct Answer ;-

37) Michel Foucault conceives power in the form of "Capillaries’. What does he mean by the concept?

landiii; 2and iv; 3andi; 4andii / 130 ii; 2 30K iv; 3 3N i; 4 i

[Option ID = 1602]

[Option ID = 1603]

A1t et 21fart Y “BfRAHEIAT & B ¥ Ao €1 30 Ybeu 1 § 31T & iy &2

[Question ID = 377]

1. Power is one dimensional 7 210 GE-3TAT & (000 15— 1508)

2. Power produces identity and subjectivity 21T UET 31 ATRIGHAT #1 JeaTfed &t 8

3. Power emanates from the state [ offere Iy & Feberell 2 G40 [Option 1D = 1506]

2ferd gHABERT & [

4, Power is repressive [

Correct Answer :-

« Power produces identity and subjectivity f?ﬁ REEIE] J'm m 351 m m 3

Option ID = 1505]

38) Who among the following has coined the term 'Silent Voters'?

Fefefa & & e wrgee el o 31 o faan 2

[Question ID = 384]

1. None of these ST A BEM A o010 - 1536
2. Rommel and Parkin / TSt @@ URTET  (opti0n 1D = 1535

3. Peter Mair ) TEX R option 10 = 1534]

4. Larry Diamond / 10 S8 [q0ion Ip = 1533]

Correct Answer :-

[Option 1D = 1604]

[Option ID = 1601]

[Option ID = 1507]

[Option ID = 1507)

[Option 1D = 1603]
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« Mone of these / R m MY et [Option ID = 1536]

39) Who among the following first gave the idea of job enrichment in the organization?

e 1 B W % R @) Frfafa o 4 fay ufdara fsar or

[Question ID = 396]

1. Abraham Maslow [ HTEH I“E" [Option ID = 1582]

2. Chris Argyris [ [Option ID = 1584]
gy TN

3. Douglas McGregar / [Option ID = 1583]
4. Frederick Herzberg } JPOIN® 8919 1000 10 = 1581

Correct Answer :-

. Frederick Herzberg / JPSIN® BT (o400 1p = 1581

40) Which of the following options best captures the definition of liberty for the ancients as articulated by Benjamin Constant?

fafafEa ¥ 3 217 4 fdee a0l siué= g ufduiféd Tadaar & U figid &
NftiFan Tieie ¢

[Question ID = 375]

IRFAABEM AT (0 10 = 1500
2. Lierty as laissez faire / 001 4150 1 SEFAATAMAFTTH (500 10 = 147)

3. Liberty as participating in the affairs of the state / YAcAdT Tedl < I ¥ WRMIM & BT 0400 1D = 1498]
WA Wl dAfddrg & 9§

1. None of these [

4, Liberty as possessive individualism / [Option ID = 1499]

Correct Answer ;-

« Liberty as participating in the affairs of the state / Saeid] It o HTHGT ¥ UETR & BUN (50500 1D = 1498)

41) Which one of the pairs is incorrect?

FafafEd <ig § 4 31 11 Ted 22
[Question ID = 386]

1. Boiling Pot- Israel / T “E f ”ﬁE S BUED [Option ID = 1543]
Hedle dl3cd ;2 M

qfe =
3. Cooking Pot- UK / [Option ID = 1544)

2. Salad bowl- India / [Option ID = 1541]

4. Melting Pot- USA / femdte = g [Option ID = 1542]
Correct Answer :-

qfe =
« Cooking Pot- UK / [Option ID = 1544]

42) A formal organization is mainly concerned with:-

U IeTfies e i B0 A 3O et @

[Question ID = 394]

1. Service to society / TSt B dar [Option ID = 1575]

) bl
2. Profitability of enterprises / [Option ID = 1574]

HTSHE Wewll S VI (0000 1o = 1573)
el 3 Vi gt

3. Satisfaction of organizational members /

4. Harmonious relation within organizations / [Option ID = 1576]

Correct Answer :-

atre) ¥ Vit gt iy

« Harmonicus relation within organizations [/ [Option ID = 1576]

43) Between whom did the Instrumentalist-Structuralist debate on the nature of the capitalist state take place?

Aoftard} arg BT yfd W IuSTES WIS fAar e mea gam

[Question ID = 378]
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et ffed-= qen o2 Yool
2. Ralph Miliband and Nicos Poulantzas ,.fm el : ’
Hlot A1 2T Thsfie Uiey

3. Karl Marx and Friedrich Engels } [Option ID = 1512]
4. V.1, Lenin and Rosa Luxembourg / 1o HTEe SF aefl A5 tia™ 16100 1 = 1500]

1. Ralph Miliband and Louis Althusser / [Option ID = 1511)]

[Option ID = 1510]

Correct Answer ;-

e fifdd= aen Fer uier-sn

« Ralph Miliband and Nicos Poulantzas /
44) The Vienna Circle was a group of intellectuals.
faear wdha 1o fagrHl &1 3gg an

[Question ID = 371]

1. Who organized protest against communism /

2. Who took upon themselves to criticize Mazism / : Eﬁ Eﬁ’[
5121 Gitplde ATdEMATE Sl AUl

[Option ID = 1483]
3. Who subscribed to cultural relativism / [Option ID = 1484]
4. Whose philosophical position could be described as logical positivism /
Correct Answer :-

« Whose philosophical position could be described as logical positivism /

45) The principle of ‘Making some people better without making other's worse’, is associated with which one of the following:-

G Y 0 91T o, 8 oMl Y qeae a1 1 flgha e o & foud deifeq €2

[Question ID = 383]

1. Pareto’s optimality / L Eﬁli S [Option ID = 1531]

2. Foucault's Governmentality / 2 [Option ID = 1529]
3. None of these &1 1 AV BTEW AT (o016 153
TRt BT W

4. Gramsci's hegemony [Option ID = 1530]

Correct Answer ;-

[Option ID = 1510]

T8 Jmrane; & g Weel BT (o 00 1o = 14813

fotebt peifies feaifd B carem aifcbes weagrare & wu o i o1 bt 2 [Option ID = 1482]

forrhY eroffia faafa Y aman sifbs yaemare & su i & o gadt 2

[Option ID = 1482]

= Pareto’s optimality / e B gECdHd [Option ID = 1531]

46) The Gang-Plank refers to:-

M elp’ 1 Afium €
[Question ID = 398]

, , AR Y UEhY &1 HAEHUT BT ,
1. Following hierarchy in Communication / [Option ID = 1592]

2. Centralization of Decision / i &1 EEI Lk [Option ID = 1589]
in the organizational Communication ,F“Ilﬁ; g Har N -l [Option ID = 1591]
e o gel-fAmfor

3. Level jumping

4. Team-building in the Organization / [Option ID = 1590]

Correct Answer ;-

« Level jumping in the organizational Communication
47) The first purpose of a survey is

daquT HT vem 3897 grar &

[Question ID = 367]

1. Evaluation / [Option ID = 14568]

Y1 Ye ST

2. Provide Information / [Option 1D = 1466]

3. Description / [Option ID = 1465]

o
4. Propagation / 2 [Option 1D = 1467]

Correct Answer ;-

YT Ye T

« Provide Information [/ [Option ID = 1466]

TSR AR H TR [ gption 10 = 1501]
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48) The New Public Administration is considered as Anti-Positivist which means:-

Fd-ciid U2MHA ! Wegers -faindt o1 Sirar &1 961 ddeid &
[Question ID = 391]

1. It advocates for social change ; J& TTHTToI® GRETT HT WRABTE  [option D = 1562

wieh Homg | 3efquf ey
2. Meaningful studies in Public Administration / [Option ID = 1564]

ATt WAT Pt FAleh WO 1 I228 WIAT &

3. Realization of social equity as the purpose of Public Administration / [Option ID = 1563]

a8 ‘Yo fivdier & B9 W ol wemy & qfimer #f 3dipd s &

4, It rejects the definition of Public Administration as “value free’/ [Option ID = 1561]

Correct Answer :-
« It rejects the definition of Public Administration as "value free’ II,.?E el Feter % B A ofids TG bl TRHMTST Bl 3R "2 1 5% & [Option ID = 1561]

49) The Neorealist assumption of Robert Gilpin regarding the foundations of war is based on:-

T firafa &Y g genefard} yaom ¥ 4g & geur faa w amnfia €2

[Question ID = 407]
T4 Y waeufad e i faeara [Option ID = 1626]

2. State's assessment of its neighbouring State’s leadership capability / JUIRE 2 :ﬁﬁ EHAT T 0 g 1Y
HTfefes faxdmy b1 Iy 3Tehlan

3. States urge for economic expansion / [Option ID = 1628]

U I P GIT gAY I I 2ifer &1 Fufor

1. States confidence in its own power capabilities /

[Option ID = 1627]

4, One State's assessment of another State's power / [Option ID = 1625]

Correct Answer :-
« (One State's assessment of another State's power | hid ¥ g w Eﬁ -?lﬁﬁ ) [Option ID = 1625]
50) Research conducted to find solution for an immediate problem is

dichifclds THET & FHTHT & fbam ST arer oy
[Question ID = 373]

fdeeTaor ofty

1. Analytical Research / [Option ID = 1490]
2. SHWEEE-H—J&WI- [Option ID = 1491]

3. Fundamental Research / et oy
feramefted ofer

[Option ID = 1492]

4, Action Research / [Option ID = 1489]
Correct Answer :-

. Action Research ) FPAIRNET 8 (ooon 15— 1agg)
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